
 

Incg.in exNwbevs

Recall if we square any number the

result is always positive
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a square root
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Simplifying quotients in terms of c
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Note if radicand are negative then

you must work with radicals first
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Patterns cycles every 4th power
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ComplexNumberse are of the form atbi

a is real component

bi is imaginary component

a BE 112 real number's
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if b O a tbi is real number
b to atbi is imaginary number

Recall a b a b Cat b
difference of squares

a b and atb are conjugates

the factors of a difference ofSquires
are conjugates of each other



Recoil
a2tb2 is not factorable at this point

b c not like terms
not difference of squares

Let's multiply two complex conjugates
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